average log prob (blue:estimation, red:validatior average log prob (blue:estimation, red:validatiol

-0.5 -0.3

-0.7

-0.4

\

average log prob (blue:estimation, red:validatior average log prob (blue:estimation, red:validatiol

-0.8

-1.2

I I I I I
0 2000 6000 10000

iteration, best at 3193 = -0.5151

I I I I I
0 2000 6000 10000

iteration, best at 1 = -0.5842

-0.5

-1.0

-15

-06 -04

-0.8

I I I I I I
0 2000 6000 10000

iteration, best at 1709 = -0.6233

I I I I I I
0 2000 6000 10000

iteration, best at 2228 = -0.5059



average log prob (blue:estimation, red:validatior average log prob (blue:estimation, red:validatiol

-0.5 -0.3

-0.7

-0.7 -0.5 -0.3

-0.9

I I I I I
0 2000 6000

10000

iteration, best at 3081 = —0.5088

I I I I I
0 2000 6000

10000

iteration, best at 2806 = —0.5622

average log prob (blue:estimation, red:validatior average log prob (blue:estimation, red:validatiol

-0.2

0.4

-0.6

-0.8

-06 -04

-0.8

I I I I I I
0 2000 6000 10000

iteration, best at 1697 = —0.6205

I I I I I I
0 2000 6000 10000

iteration, best at 2654 = —0.4929



average log prob (blue:estimation, red:validatior average log prob (blue:estimation, red:validatiol

-0.45 -0.30

-0.60

-0.6 -04

-0.8

I I I I I
0 2000 6000

10000

iteration, best at 6972 = -0.5195

I I I I I
0 2000 6000

10000

iteration, best at 1 = -0.5843

average log prob (blue:estimation, red:validatior average log prob (blue:estimation, red:validatiol

-0.6 -0.3

-0.9

-06 -04

-0.8

I I I I I
0 2000 6000

10000

iteration, best at 1620 = -0.6239

I I I I I I
0 2000 6000 10000

iteration, best at 2916 = -0.4937



average log prob (blue:estimation, red:validatior average log prob (blue:estimation, red:validatiol

—-0.45 -0.35

-0.55

-0.5 -0.3

-0.7

I I I I I
0 2000 6000

10000

iteration, best at 4549 = -0.5099

I I I I I
0 2000 6000

10000

iteration, best at 3797 = -0.5701

average log prob (blue:estimation, red:validatior average log prob (blue:estimation, red:validatiol

-0.4

-0.6

-0.5 -0.3

-0.7

I I I I I I
0 2000 6000 10000

iteration, best at 5001 = —-0.5884

I I I I I I
0 2000 6000 10000

iteration, best at 2944 = -0.4931



o o
o N~ o [s2]
- O (2] - O <
o < o (©2)
— To) — <
? ?
1 1
N~ o]
S & B
- o ~ - o Q
© ~ © N
-+ -+
@© @©
— +— — +—
[%2] [%2]
(] (]
o o] o o]
o r o r
— c — c
& o & o
- -
@© @©
S S
= O Q — O Q
= =

1T 1T 1T T 11 I I I I
GE'0- 0S°0- S9°0- Sv'0- SG'0-

lonepljeA:pal ‘uonewnsa:an|q) goid Bo| abelane 1onepifeA:pal ‘uonewnsa:an|q) goid Boj abeiane

o o
o e’} o [N
= O (90} = O ™
o 1 o N~
— n — L0
? ?
1 1
N n
S o S o
- O ™ - O (o]
© < © <
- -
© ©
— +— — +—
(%] (%]
(] (]
o o] o o]
o - o -
— c — c
& o & o
- -
© ©
S S
= O [¢3] = O [¢3]
= =

I I I I 1T 1T T T T 1
Sv'0- GG°0- Ge'0- 0S°0- G9°0-

lonepljeA:pal ‘uonewnsa:an|q) goid Bo| abelane 1onepifeA:pal ‘uonewnsa:an|q) goid Bo| abeiane



o o

o - o <

- o Te) — O —
o N~ o o

- 7o) - <

? ?

1] 1]

™ <

% Q0 w o

- 3 0 — o [e0]
© ™~ © <

- -

© ©

L vt - —

%] %]

1) )

o o o o]

o - o -

L c - c

& o & o

—— ——

© ©

S S

- o Q - o Q

= =

I I I I I 1T T T T T 1
S'0- GG'0- S90- 91°'0- 25°0- 8G°0-

lonepljeA:pal ‘uonewnsa:an|q) goid Bo| abelane 1onepifeA:pal ‘uonewnsa:an|q) goid Boj abeiane

I
10000
I
10000

I
6000

I
6000

0 2000
0 2000

iteration, best at 6550 = -0.5137
iteration, best at 8681 = -0.5771

1T 1T 1T 11 ) I I I I
05°0- 9G°0- 09°0- 09°0-

lonepljeA:pal ‘uonewnsa:an|q) goid Bo| abelane 1onepifeA:pal ‘uonewnsa:an|q) goid Bo| abeiane



